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by Pete Bohmer,  November 28, 2006

Out of the economic crisis of the depression and the political challenges to corporate capitalism in the 1930’s, there developed significant changes in the economic and political system of the U.S. A central aspect was the "Accord" an informal agreement between core corporations, the federal government, and organized labor as junior partner that structured the U.S. and other economies from late 1940’s to mid 1970’s. 


1.  There were improvements in wages, benefits and conditions for the unionized workforce from the mid 1940's to the early 1970's. The Accord did not include the majority of people of color nor white women.


2. Unions were accepted, often grudgingly, by corporate America, but at the cost of unions accepting corporate monopoly over where to invest, domestically and internationally, and over the production process. Business unionism, which became institutionalized by the mid 1950's merger of the AFL-CIO is incapable of fighting effectively against the renewed corporate and government offensive against labor that began in the late 1970's and continues  today. 


3.  The anti-communism which unions accepted as a price for their acceptance made unions less capable of organizing the unorganized, particularly in the South of the U.S. thus limiting union's ability to grow. Moreover, by unions  not  making challenges of  racism more of a priority, they contributed to its perpetuation and their own weaknesses. The same holds for the Democratic Party.  The problems of declining unionization and falling standard of living precede the Ronald Reagan era. 
         4.
The Accord contributed to oppression of people in the Third World or South (Africa, Latin

America and most of Asia) by getting unions to support U.S. foreign policy and military intervention,

particularly in Asia and Latin America; this has come back to haunt working people today inside and

 outside U.S. Need for global solidarity, develop more next quarter.
        5.
The Accord isolated much of organized labor from its natural allies in various social

 movements in the 1960's and subsequently such as the anti-Vietnam movement, Black and women’s

 movement, thus weakening all of them. It also separated organized labor in the U.S. from workers and

 worker organizations in other countries.

Related to these points is the following:


1.  Cold war, anti-communism and U.S. foreign policy has served the interests of the multinationals. Victims are most people of the world.


2. There has been a one sided class war waged by corporations against working people to restore corporate profits since 1970's, U.S. and globally. Real wages are lower today for most working people than 30 years ago. Income and wealth are also far more unequal. 

3. The “Accord” is dead, replaced by a more austere (more unequal) social structure of accumulation that is hostile to even business unionism and the social welfare programs, civil rights  and environmental policies that developed in the New Deal and in the period from the early 60’s to early 70’s. 

I call the new one,. Global Capitalism or the neoliberal Accord





Outline and definitions

I.  World War II and the immediate Post WW II period


A. Growth of organized labor and employment, end of the depression, during WW II

B. Fear of the depression reappearing at end of World War II-- 


C. U.S. as hegemonic power, economic, political and military dominance

D. 1946 strike wave, classwide demands, strikes for freezing prices in electrical machinery and auto, and then Operation Dixie—failed attempt to organize South. 

E. The Cold War at home and abroad--Taft-Hartley Act; Expelling of left unions from CIO in                                   1949, and the growth of McCarthyism
II. The "Accord"


A. Background


    1. Accumulation of capital--Key to the functioning of capitalism is the accumulation of capital, the investment of profits by capital to expand production and to reduce their costs. 


    2. Social Structure of Accumulation--For accumulation and growth to occur, there needs to be an environment where capitalists can make profits and be secure that these profits will continue. Otherwise, there will be stagnation or a depression if capitalists do not invest. The given laws, institutions relations, that shape accumulation vary from period to period. I call them the Social Structure of Accumulation. Key to the development of the Post WW II social structure of accumulation is what I call the "Accord". (analysis of  types of capitalism)—see Understanding Capitalism, Chapter 7. 
          B.   Definition of the "Accord" -The particular social structure of accumulation that developed by the end of the 1940's and marked the next twenty-five years.  As defined by Political  Economist, Sam Bowles, it is a non-formal agreement between labor and capital that:  "represented on the part of labor the de facto acceptance of the logic of profitability and markets as the guiding principle of resource allocation, international exchange, technical change, product develop​ment and industrial location, in return for an assurance that minimal living standards, trade union rights, and liberal democratic rights would be protect​ed, that massive unemployment would avoided, and that real incomes would rise approximately with labor product​ivity, all to be guaranteed by the intervention of the state, if necessary."


It is rooted in four central pieces of legislation and one treaty:  the Social Security Act, which provided the welfare state foundation; the Wagner Act, which legalized the rights of workers to unionize; the Taft-Hartley Act, which restricted union solidarity and political activities of unions; the Employment Act of 1946, which committed the federal government to anti-depression policies; and the Bretton Woods treaty which promoted world trade and investment and put the dollar in an advantageous inter​national position.

                    Bretton Woods system of fixed exchange rates based on the dollar together with gold as the reserve (privileged) currencies for international economic transactions. It set up the International Monetary Fund and the World Bank as western, U.S. dominated international institutions to enforce openness to foreign investment and trade (very important today).

 
C. Key aspects of the "Accord"

              
1. Unions were accepted--right to collective bargaining



 2. Increase in real wages equal to growth of productivity



   increase in nominal wage = growth of productivity plus growth in prices



   increases in benefits but employer specific




3. Management prerogatives



   a. Investment decisions--technology, where to invest



   b. Hire and fire, seniority provisions



   c. Management control what is produced, prices



4. Cold War unionism




a. Kick out the radicals, socialists and Communists at home (who were they)



b. Support U.S. intervention abroad

   


c. Examples of cold war unionism and foreign policy





1. Guatemala—1954, also Iran, 1953




2. Chile—1973
                                                       Continued somewhat after the collapse of the Accord—Nicaragua in the                                                  1980’s, Venezuela today although challenged strongly within AFL-CIO.    



d. Work within the Democratic party


        5. Business Unionism-cannot be separated from anti-radical purges and Cold War ideology. It means reliance on large staff and not on membership for policy. Politics is restricted to lobbying and the Democratic Party. Demands on the job are primarily for wages and benefits. Business unionism may be conservative or liberal but it leaves unquestioned capital's dominance on the job and in society. It negotiates only the price of the domination. The unions lobby through their staff for Social Security, Minimum Wage, high employment, the GI bill, and home ownership but the members became less and less involved. It does not directly involve its membership in framing the questions and making decisions. The union becomes distinct from its membership. Politics becomes primarily lobbying through the Democratic Party, raising funds for candidates and trying to turn out the vote rather than involving and educating the membership.


AFL and CIO merger in 1955—highest proportion of unionization, 1955: 33% of labor force

       6. White and male “Accord” –not in most of the literature

      A. Who benefited from the “Accord”, who were the main “players”—skilled workers, mass   

                         production industries although somewhat more widespread.  


                   B. Racism, business unionism, Democratic Party and anti-communism linked

                   C. Family wage, woman as housewife, pre-1960   


      D. Accommodated to sexism and racism of U.S. society—needed to be challenged directly
         7. Suburbanization and the auto-Government subsidies to build housing, mainly for whites, government    subsidized mortgages, freeways—with growing incomes, savings from WW II and availability of credit—fueled  consumer demand for consumer durables, growth of home ownership, shopping centers.—Consumer society. 
III. Economic results, 1940’s to 1960’s

   A.  Growing corporate profits, 1940's to 1960's, absolutely and as a return on capital until late 1966-67
   B.   Declining proportion of labor force organized after 1955, continued decline until today

           Growing wages and benefits but primarily in core industries, wages more general after 1965 

    C.  Organized labor cut itself off from potential allies--social movements of 1960's--Black and Civil                             Rights, Anti-Vietnam war, women's movement, others.

IV. More on  1960’s--Social Movements, Reform and Revolution; Guns and Butter, repression and reform, 

        A.  Key role of Civil Rights Movement: Bernice Reagon, They Should Have Served that Cup of Coffee  
        B. Reform as response to social movements

             1. End of Legal Segregation

             2. Significant growth of Blacks in higher education, government employment, white collar jobs
             3.  Declines in overall poverty—growth in equality, partly caused by guns and butter approach,

                  unemployment rate fell although black unemployment remained more than twice white—smaller                    declines in central cities as growth of jobs increasingly suburban—housing segregation                                  continued.    
             C. Also repression significant                        
V. The end of the Accord


A. Squeezing of corporate profits

                   1. Firms had to pay growing wages, social costs (pollution), and partly for social programs, e.g., 
                        Medicare, War on Poverty—decline of unemployment rate, below 4% in late 60’s

                    2. Growing global competition, Europe, Japan, S. Korea, excess capacity in industry
                    3.  Growth of price of oil—higher costs couldn’t be fully passed on.-couldn’t intervene.     

                    4.   Role of Vietnam war and anti-war movement limited intervention, couldn’t tax sufficiently  
                          because it would have increased opposition

   B.  Social Movements at home, (poor people, Black, women’s, environmental, Gray                                                   Panthers) made the “Accord” more inclusive, lowered profits.
                 C. Increased rebelliousness, e.g. Lordstown, Ohio—strike against speed-up,      
                  D. Declining white, particularly white male support for the “Accord” and for social welfare                                     programs, the “backlash” 
                        (although gains for example in opening up colleges also aided working class whites)
             E. Corporations changed rules of the game--one sided class war since late 1970’s, Doug Fraser 
 VI-The New Social Structure of Accumulation—Neoliberal Global Capitalism, more next quarter
      A.  Model based on higher rates of profit through cutting the social wage, social programs  
      B. Reduce taxes on capital and high incomes, wealth, Reagan tax cuts and Bush 2, 2001-2003
       C. Flexibility of labor-more part-time jobs, outsourcing, e.g. GM, less benefits and job security
       D. Growing inequality of wages and salaries—Winner take all society
       E. Growing mobility of capital across borders—less restrictions on movement of goods and services,                         financial capital, direct investment
      F.  Deregulation and privatization

      G. Law and Order, Domestic and International--

VII. Changes in  Urban America from early 1970’s

      A. Continued growth of Black and Latino populations in major cities, political office but limited power.—growing class divisions among Blacks and Latinos. .

       B. Decline in livable wage jobs—in city government and manufacturing although growth in health field
       C. Growing black and latino populations in suburbs, but usually in segregated suburbs or neighborhoods
        D. Declining money for social programs in most cities—power of suburbs to get resources growing, tax                    revolt, growth  of spending for prisons, police  in a period of a more neoliberal SSA. 

       E. Privatization of social space—parks, schools—less concern about social programs, social services.        
VII. Questions for today and future discussion

 
A.     Is business unionism bankrupt?  What must change to increase membership, and dignity                                        and   power of working people? 

B.    Who are the allies of working people--the big corporations, the Democratic Party?  or workers                         in  other countries and social movements at home? Should a new political party be formed?
             C.  Was anti-communism and the cold war an ideology to maintain elite control at home?  Who are 

                    our enemies, Cuba? How?  Does the “War on Terror” play a similar role today?

            D.   Does business have the right to close down businesses, and invest in whatever and wherever they can make the most profits?   Should workers and communities have control over these decisions? More fundamentally, can and should working people try to control the movement and mobility of capital? if so, how can they do it?
   
          E.    How can organized labor and social movements, deal with the growing income and wealth inequality; how can they  contribute to creating an environment  where these and other issues are  raised?      
VIII. TENTATIVE CONCLUSIONS and Strategic Implications 


A.       As a consequence of the Accord and U.S. hegemony, a dominant politics and culture developed in the U.S. from the 1940's to the 1970's based on economic growth and consumerism. 


B.       Significant and positive reforms occurred during the 1960’s, 1970’s-What people gained was                                less  than what they struggled for. Gains in consciousness—need for new movements.

C.       Need for unions but ones that link up with social movements and build alliances with                                      various groups. Social Movement Unionism. Principled  solidarity—anti-racism, peace,                                  with global justice,  environmental, women’s, sexual orientation: With new political 
                         parties.  

D.       Key role of women—in the union, in the workplace, in the community, in the home


E.        Build inclusive unions--immigrant workers, bilingual education, oppose  anti-                                                  immigrant propaganda and the Patriot Act. 


F.        Labor as a social movement whose power is its members; democratic and rank and file                                  control; organizing the unorganized.—youth, fast food, WalMart, part-time, health care, 
                         hotel and restaurant, service workers—social movement unionism. 

  
G.       Need to go beyond  the Accord, not back to it.: For control of capital, for better social    services and  decommodification of needs, for living wages, racial and gender equity, for solidarity across borders.  Key role of global justice movement connecting the global to problems of    working people at home—rural and urban.
             H.        Long term vision of a society based on human dignity and meeting needs of all cannot                                    be realized in a system based on profit maximization.  We must combine short-term                                         goals and reforms with a long-term vision of a fundamentally different society, a                                            participatory, democratic socialism. 

 The criterion for strategy is what increases power and understanding of working people and builds solidarity between labor and social movements at home with struggles for self-determination and equality.





